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Series C — Operations with Number

Page 1 Page 5
: . . s 00000
la 3+2=5 1 Answers will vary. TOO0000
3and 2isthe sameas5 Sample answers:
b 1+3=4 nought, none, nil, nothing h 9
1and 3isthesameas4 2a 13 i 5; 88000
c 4+3=7 b 19 .
4 and 3 isthe sameas 7 ¢ 23 )
d 4+2-6 k Answers will vary.
. d 4
4 and 2 isthe same as 6 I 8
e 27
2a 5+4=9
f 38 Page 8
5and 4 isthesameas9 8
. la 1+5=6
b 4+4-8 g The number stays the same 2
i 2+4=6
4 and 4 isthe same as 8 3a 10 Z+t 4
b 13 3+3=6
P 2
age cs 4+2-6
la 5-2=3
o d 67 2+1=6%
b 8-4=4
o 16 £+0=6
c 8-3=5 €
d 12-6=6 f 28 b0+8=38
g The number stays the same. 1+7=28
. 2+6=38
4 Answers will vary.
2a 3+5=28
geies e prece
QOQO0 la 5 5+3=8
b ) b 4 6+2=38
3a, b Answers will vary. c 2 7+1=28
d1; OO00® 8+0=38
Page 3
1 3 000000 506000 e 2, OOOO® 2 0+4=4
3+3=6 f o, OO0OO0O 1+3=4
) 0000 0000 2+2=24
b 4 —_ 2 Answers will vary. -
5+4=9 Z : 3+1=4
¢ 4 [¢/e] Page 7 ' 4+0=4
1+4=5 A . 90000 b 0s2eo
o : * O0000O -0
d 2 G5 398 § : 1+1=2
P il b 3 OOOO 2 ho-
‘ +0=2
Page 4 c 10 Page 9
What to do: 4 7 QOO0 What to do:
Melody: 8-5=3 ' OOO Teacher observe.
Hoa: 10-6=4
e 2 @@OO
Jack:9-7=2
What to do next: f Answers will vary.
Thomas
-,
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Series C — Operations with Number

Page 10 Page 12
1 10 10 10 10 1 5533585835 0@® BHC 55558 9®®
1119 2|8 3|7 4 (20) j (20)
BEEEEES
10 10 10 10 “@ : 0@
][] L[] ) [ e LY, EEEEE X,
10 10 10
T [l ts] ol PR g, FEERRREE (S
\ :
22 0 [XJOO0| 00000 @ ‘ [JOOO0 @
.0 T Y, R
c 1 @ @
BRHES
d 6 (5) () (13 (@)
e 3
= R 2
g9 ‘
e R 2
i 2 QION (19 (5)
Page 11 Page 13
@ What to do:
1la 7 + 13 =20 o @ Teacher observe.
% );Z a Page 14
b 14 +6 =20 @ o 1 Teacher check.
(20
Page 15
tr 1520 mﬁm
1,2 | 4+43=17 9+5= 14 8+4= 12
5+47=12 3+10= 13 10+10= 20
9+10= 19 1+9=10 3+6=19
6+8= 14 8+9= 17 1+7=8
7+9= 16 2+6=8 9+0 = 9
3+42=15 9+7=16 1+10= 11
5+44=19 5+5=10 7+7= 14
Time Time Time
2 Answers will vary.
-,

-
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Series C — Operations with Number

Page 16

2-0 =2 19-10=19 12-0=12

12-3=19 10-7=3 20-10=10

16-7=19 3-2=1 7-7=0

14-7=17 12-10=2 15-1=14

1M1-0=11 20-0=20 17-8=19

7-2=5 4-3=1 1-9=2

10-9=1 16-10=6 8-2=6

16-7=19 5-0=5 9-6=3

16-10=6 8-8=0 8-0=8
20-10=10 11-9=2 17-7=10

14-8=6 16-7=9 12-3=19

15-9=6 15-5=10 |10-10=0

18-10=8 10-9=1 16-6=10

12-5=7 15-8=7 8-1=7

13-8=5 1-0=1 14-9=5

6-0=6 16-8=8 9-8=1
Page 17

18-9=19 9-8=1 11-3=8 2=6
9-3=6 8-6=2 5-5=0 7=6
13-5=8 3-0=3 q-7=2 -8=19

7-2=5 7-1=6 9-6=3 17-10=7
2-1=1 q-2=7 10-3=7 13-6=7

7-6=1 12-7=5 15-0=15 7-4=3
3-1=2 12-9=3 9-1=8 6-4=2
9-5=4 11-2=9 10-6=4 13-9=4
14-5=9 7-7=0 11-8=3 5-2=3
17-7=10 11-6=5 15-7=8 4-0=4
9-4=5 17-9=8 9-9=0 9-1=8
14-10=4 15-6=19 17-9=8 0-5=5
12-8=4 11-6=5 6-0=6 5
14-8=6 9-5=4 8-5=3 8
17-0=17 14-6=8 10-8=2 7
9-9=0 12-6=6 11-5=6 8

7-5=2 10-6=4 8-3=5 qQ
17-7=10 10-8=2 16-8=8 4

Answers will vary.

Page 18
What to do:

Observe students.

What to do next:
Observe students.

Pages 19-20
What to do:

Observe students.

Page 21
What to do:
Teacher check.

Page 22

1a 10+o=100+1o=1o1o-1o=o1o-o=1o

b 6+4=104+6=10|10-6=4|10-4=6

c 1+9=10|9+1=10[10-1=9|10-9=1

d 8+2=10/2+8=10|10-8=2|10-2=8

Page 23

1 |9+8=17 | 8+9=17 | 17-8=9 | 17-9=8
10-1=9 | 10-9=1 | 1+9=10 | 9+1=10
7+8=15 | 8+47=15 | 15-8=7 | 15-7=8
16-9=7]| 16-7=9 | 9+7=16 | 7+9=16
4+9= 9+4=13 | 13-4=9 | 13-9=4

2 [9+8=17|8+9=17 |17 - 8=9 | 17 - a=8
14 - 6=8| 6 +8=14 | 8 + 6=14 | 14 - 8=6
3+8=11|11-3=8|11-8=3|8+3=11
13 -6=7|6+7=13 |13 -7=6|7 +6=13
9-8=1]9-1=8 | 1+8=9 | 8 +1=9
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Series C — Operations with Number

Page 24

20 + 80 = 100

v

40 + 60 =

100 ‘/7

100-20=80 |/

70-30=100

70+ 30 =

100 o/

80+ 100 =20 |

100 + 0 =100

80-20=

100 |

50-50=100

10+90=100

80 +20 =

100 /|

30+70=100 ¢/

50 + 60 = 100

70+ 20 =

100 |

100-30=60

100 - 40 = 60

20+ 70 =

100

60 + 40 =100 o

50 + 50 = 100

100 -70

=60

0-10=70

Page 25

100 =100-0

0+ 100 = 100

100 + 0 = 100

100-0=100

90 =100 - 10

10 + 90 = 100

90 + 10 = 100

100 - 10=90

80 = 100 - 20

20 + 80 =100

80 + 20 = 100

100 - 20 =80

70 =100 - 30

30+70=100

70 + 30 = 100

100-30=70

60 = 100 - 40

40 + 60 = 100

60 + 40 = 100

100 - 40 = 60

50 = 100 - 50

50 + 50 = 100

50 + 50 = 100

100 - 50 = 50

40 =100 - 60

60 + 40 = 100

40 + 60 = 100

100 - 60 = 40

30=100-70

70 + 30 =100

30+ 70=100

100 -70=30

20 =100 - 80

80 + 20 = 100

20 + 80 =100

100 - 80 =20

10 =100 - 90

90 + 10 = 100

10 +90 = 100

100-90= 10

Page 26
What to do:

Observe students.

Page 27

2 + 2

1 6+ 6
12
: 12
(‘double 5 (double2 | [dowble ] (3, 3
2a 22 b 24
c 26 d 28
e 30 f 32
g 34 h 36
Page 28
What to do:
Observe students.
What to do next:
Observe students.
Page 29
1 10 100
1a Double
2 20 200
2 20 200
b Double
4 40 400
3 30 300
c Double
6 60 600
4 40 400
d Double
8 80 800
5 50 500
e Double
10 100 1,000

2a £20+£20=£40
b 20 doughnuts

Page 30

-

-
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Series C — Operations with Number

> =h
o A N O U L O

2a 7;5+2=7
b 87+1=8

3a@3

@ - 13
o | 1] ®|G)]-] 1
@[ s [@]-1s
i@ 6 @] 16
e[ s ®@]|-[ s
® - 1

Page 32

What to do:
Answers will vary.

What to do next:
Answers will vary.

Page 33

1a

16

16 +1 =17
13+ 1 =14
20 + 1 =21
22 + 1 =23
Time

14 + 2 =16
21 + 2 =23
17 + 2 =19
23 + 2 =25
15 +2 =17
Time

15+ 3 =18
1M1 +3 =14
23 + 3 =26
17 + 3 =20
21 + 3 =24
Time

Page 34

What to do:
Observe students.

Page 35

1 Observe students.

2a 24
b 54
c 37
d 55
e 66
f 65

3a-d Answers will vary.

Page 36

What to do:
Observe students.

Page 37

1 85290 ] [}
o gggegee ] [ 000]
 EEgggee 2] [

2a 5+6=11
51+ 5 |+ 1 |=| 1
b @@ @O
Q0 |+ 90|+ ©®
o0 00
6 +7=13
6 |+ 6 +| 1 |=| 13
Page 38
What to do:

Observe students.

What to do next:
Teacher check.
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Series C — Operations with Number

Page 39
(e[| Aree[o]]
EEEOE P aTERD|
S ESEOE N BEEDI
BEROE STRED|

2a £7+£7-£1=£13
or
f6+£6+£1=£13

b 4+4+1=90r5+5-1=9

Page 40

la 17+6= 23

ljumped| 3 |togetto 20 .

Then | jumped| 3 |more.

b 18+8= 26

ljumped| 2 |togetto 20 |

Then | jumped| 6 |more.

c 16+7= 23

ljumped| 4 togetto| 20 .

Then | jumped| 3 |more.

d 19+4= 23

ljumped| 1 togetto| 20 .

Then | jumped| 3  more.

Page 41
la 80
b 80
c 90
d 100
e 90
70
30
60

> o

2a

b

C

d

- o

> oo

50
50
60
10
60
20
60
60

Page 42

1a

2a
b

54
30
32
76
90
83

80
98

Page 43

1

59

Page 44

la
b

d

56
66
46
75

Page 45

la

Answers will vary.

Page 47

1a

()
@ (D

(15)
O

1c

a]
N -4
B Py
=4
E !?f!?(gr;{
12
b
e
E ﬁ?ﬁ%
16
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Series C - Operations with Number
Page 47 IR ] cns oncs INEMEETINN  tens ones |

2e

g el : 11 é L
o | |

Ean ; o : 2 || @@ |2

ey + 6 : ]
13 - + oo + 1 0

i —
:: 3 Em 2
Em —

Page 50 22+ 10| =32

: oo

b 81 1 oo 4 '
c 49 1

ooo
w

ooo
w

Page 48 4 1
la 53 EE :

é 1 mm | 6
b 91 EE am |
¢ 104 || 2] o |8

d 82 14|+ 2 =16 :
e 55 13 |+ |13 | =26

g 95 o Page 51
' : 3 1la tens ones

Page 49 6 2

PSENIR] cens ones

b | tens | ones

I | T
|
m ‘
0 ‘

C i tens : ones

2 4

2 9
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Series C — Operations with Number

Page 51 i 2 Answers will vary.
: 1k tens : ones
id tens  ones - e :
I 3 1 i Page55
> .8 D 1a 26
e : o4 4 ;0
+ 1 1 —_ . b 51
e q | 7 5 ¢ 40
. d 14
e tens  ones Page 52 e 24
2 9 la 13 f 35
5 7 b 22 330,300
: : a 5,50
+ 27 ¢ 14 :
- ; b 2;20;200
:od 23 s
4 : ¢ 7;70; 700
e 26 :
f tens ' ones f 19 Page 56
1 / 2a 26-3=23
- — : la | 64 - 13 = | 51
+ 3 2 . b 19-4=15
13is 1 tent and 3 ones <
4 q i 3 18; Yes because we are subtracting
: a small number.

4114214314445
5152 |53 |54 55

8 bk B Page 53 61|62 63|64 o5
64 1a 28 - - s
+ 2 5
8 q N b |67 - 34 = | 33
c 23 - =| 3 34is 3 tenst and 4 ones <
h  tens ones 21]22]23]24] 25T os 0728

31|32|33|34[35|36|37|38
41| 42|43 | 44|45 46| 47 <48
51|52 |53 | 5455|5657 k58
61|62] 63|64 6566|6768

+
~
w H
o
I
N

-
w
=
|
1
w

ofelololele

c |58 - 26 =| 32

i tens ones : :
2 3 2a |£27 |- £22 =| £5 26is 2 tens$ and 6 ones <
+ 5 5 | 2\[oglaalaslaslaslagfasloalso
‘ ‘ . b | 28/-126 = 2 : 31[32[33[34[3536[37]38[39]40
7 8 41]42]43]4445] 46[47]48}da] 50
: Page 54 51]52[53]54[55]56[57[88[53] 60
j tens ones la 27
7 2 b 21
AU © ¢ 25
+ 1 7
N S S d 4
8 q e 2
f 3
B
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Series C — Operations with Number

Page 56 . Page 61 . Page 66

1d 35—24=E

24is 2 tenst and & ones <

:

1a 1a 86is |8 +

(][]
][]

+

oo

b 27is

o lafale
11|12(13| 14|15
21122|23|24|25 <Zb 27

31]32(33(34 3556 | 37

c 32is

+

-] L]
!

][]

=)
on

d 46is | 4 +

elelele

I

4 + 3 = 7 7 - 4 = 3
ges LM BB
: Pages 67-68
1a The difference is 2. Page 62 12 17
4 |- 2 |= 2 What to do: b 15
B A . : .
. . nswers will vary. c 10
b The difference is 5. :
Page 63 pod 12
12 |-| 7 = 5 & :
la 2 . oe 31
Page 58 b 3 f 14
la 3 L oc 1 g 21
b 7 L d 3 h 3
2
c 12 L€ Page 69
. . f 3 .
2a—c Bar models will vary. la 13
Pages 64—65 i b 42
Page 59 :
la 13 ioc 2
la 8;8 :
b 24 . d 13
b 12;12
c 66 c 23 2 Answers will vary.
d 9;9 a3 :
! e 17 Page 70
2a 19+4=23 ; £ 15 : la 21
b 12+7=19 g 50 b 40
3 4+5=9 5+4=9 : h3 : © v
9-4=5 9-5=4 i 30 d 43
. e 13
Page 60 ;a1
k 43 f 23
la 5 b 9 c 11 -
8
10 8 20 . 116
25 6 15 . oma
50 7 16 . n 20
o0 7
2a 4+4=8
Lucy is 8 years old.
b 28-14=14

Sara ate 14 more strawberries.

- .
{ Copyright © 3P Learning Series C Answers



Series C — Operations with Number

Page 71 1d 22

e 71 1b 44;

f 30 | | |

s % B e

[sanannnann)
[sansnnnnnn)
Qansaacccaall
6960006
696606
000
oQ
<

[sassssnnnn]
Ty
[snssssnnnn]
Ty
Qansacccsaa
6060060
09660
906900
[
=
[e))
Q.
=
N
-
>!

2 12+35=47 35+12=47 | | |
47-12=35 47-35=12 | v —
= o asen EAEEY
page 72 page 77 e s
1a 10 la 5 13 | | |
b 40 8 L v IL v 1
g 1] [ e ]
c 70 ?
Page 80
d 30 b 7; 24
= O
e 50 : 17 :
Fao 3 v (3
g 0
; 16
h 80 2 ¢ (2
14
2a no Fﬁ 2a 14 beads
b vyes b 25 raisins
c yes d 6 8 ¢ 29 plums
é 12 é
d vyes d 28 meals
e no ?
- : Page 81
f Answers may vary but be similar . e 10; 24
to ‘there are more ones in the : 1a x
first number’ 14 5
' N e
? :
Page 73 Poc v
Page 78 L4
la 15 : X

b 38 b 65 - 52 = 13; 13 2a Eplates of@@is@altogether.
c 58 545 =
d 27 Page 79 2X5=
2a-h Answers will vary. Teacher check. i A | i b Bbmm of@&is@&altogexher.

* I J : 2+2+2=6
Page 74 +2 4

la 21 ‘25‘ ‘15‘ B"E=E

b 51

c 16

Copyright © 3P Learning Series C Answers 10



Series C — Operations with Number

Page 82

2a i

4 groups of 3= 12
3)+3 (3] 312
RIREINIE

b . .
3 groups of 2= 6 |
2 +[2]+[2]-[6]
31x2-6
Page 83
12 @ 4+4]-[8
2[4
@groupsof

b “‘L

[2]rows [ 3]e[¢]
c &s)+[s]+[s]-[1s
EERE
'3 | groupsof 5 [ 15|

. 1la

3 o315

e 7@ EIGEIREIS @
4)x[3]<[12
9mupsof@ @

f O
Brows ofis
Page 84

2 | groups of | 6 |is| 12
b | 3 groupsof| 5 |is| 15
€ | 1 |groupsof| 5 |is| 5
d | 2 |groupsof| 2 |is| 4

2 20

There are 4 rows of 5, so you can
count in fives.

Page 85

i 1 Trace and colour a and c stars.

3 groups of7is@
747 47=21
3x7 =@

- B
3 groups ofbis
6+6+6=18
3x6 =18

 2a | 3 |x| 5 |=|15

. Page 86
What to do:

* £

2x5=10

®7®® %%

3 x6=18 2 x8=16 2 x 10 =20

What to do next:
Teacher check.

Page 87

= ) G

o [eb{o ] (b 1e]
¢ [2b{x )] [}(3)[x]

5 x| 3 |[=] 15

b | 3 |x| 6 |=| 18

6 x| 3 |=| 18

Page 88
What to do:

i Answers will vary.

What to do next:

You can’t make turnarounds for doubles
i asthey are the same both ways.

Page 89

Teacher check.

-

| Copyright © 3P Learning
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Series C — Operations with Number

Page 90

la | 1 [x| 2 |=] 2
2 (x| 2 |=| 4
3 x| 2 |=6
4 |x| 2 |= 8
5 x| 2 |=10
6 x| 2 |=]12
7 |x 2 |=|14
8 x| 2 |= 16
9 x| 2 |=| 18
10 |x| 2 |=|20

b [2] ¢ ][ ]w]rz]ss][16] o]

It’s a 2s pattern.

C

Page 92

1 1 x2=|2
2x2=|4
3><2=T
4 x2 =8
5x2=|10
6 x2=|12
7 x2=|14
8 x2 =16
Q9 x2= 18
10 x 2 =120

2a 12

b Observe students.

Page 94

1a 1 x| 5 |=| 5
2 x| 5 |=|10
3 |x| 5 |=| 15
4 |x| 5 |=| 20
5 |x| 5 |=] 25
6 x| 5 = 30
7 x| 5 |=|35
8 x| 5 |=| 40
9 x| 5 |=| 45
10 (x| 5 |=| 50

b 5 ][0][1s ][z ][s0][ss | so]| ] 0]

C

It’s a 5s pattern.

Page 91
Answers will vary. Page 95
o o(0 o OR
1a ) L)
e ole o They are all even numbers. 1 1 x| 5 |=| 5
il ol Il B They couldall e bahed.
T .
ey could all be halve 2 Il 5 || 10
b |*,]° Page 93
age
°l ¢ & 3 x| 5 =] 15
2 1« 2 |-| &4 What to do:
Answers will vary. 4 |x| 5 |=| 20
c o [ o What to do next:
5 |x| 5 |=| 25
Teacher check.
2 (x| 1 =] 2
6 x| 5 |=| 30
d .o .o
L4 L4 7 (x| 5 |=| 35
2 |x| 3 |=| 6
8 |x| 5 |=| 40
2a 2 |x| 2 |=| 4 9 x| 5 |=| 45
b | 2 |[x| 2 |[=| 4 10 |[x| 5 |=| 50
c 2 |x| 4 |=| 8 2a 15;15
b 10; 10
d 2 (x| 3 [=| 6
c¢ 35;35
B

L

Copyright © 3P Learning

Series C Answers

12



Series C — Operations with Number

Page 96 . Page 98

mm 1 10 x 1 10 2a

10 x 2

1a

X
X

20

X

10 x 3 30

X

X

10 x 4 40

10 x 5 50

X

Page 102
10 x 6 =/ 60

X

1a | 2 |x| 3 |=| 6

X

10x 7 =70

X

HRNEREERNE
OO EICEICIEIC)
glsle[z]sss]s 8|5

: 10x 8 = 80

b [w][=]a]w]=[e]w]u]ofw] i 0 e b alx 5 -2

¢ We are counting in 10s.

10 x 10 = | 100 5 x| 4 |=|20
Page 97 :
2a 40; 40 i ¢ | 10|x| 3 |=|30
1 b 30;30
@ : : 3 |x|10 =130
¢ 60;60 :
. Page99 Page 103
b . What to do: '
§ 1 4 | x| 5 |=120);20
a 20legs
b 14legs 2 _ .50
2a 20 : 5 %10 50 |;
: ¢ 30carrots :
b 40 : : _ .
i d 12legs P03 |6 x| 2|=12];12
c 70 ; :
d 10 . Page 100 . 4 |5 x| 5 |=25;25
e 30 a2 5 10 |
a X = :
f 80 Page 104
bl 2Ix3/-|6 What to do:
: 2traysof 5=10
c| 4 x| 5 |=20 1x5=10
i Straysof2=10
d | 6]x[10]=-|60 5x2=10
i 10traysof 1=10
Page 101 10x1=10
la | 5 x| 3 |=]|15
bl 2 |x| &4 |=| 8

A .
{ Copyright © 3P Learning Series C Answers 13



Series C — Operations with Number

Page 104 What to do next:
What to do next: le 3,115+ 5 |=]3
oo 4 |x| 5 |=|20
(1)
2rows of 10is20 8¢ 10 rows d 6 |30+ 5 |=|6
0000000000 ::onisZO 20|-/ 5 _| 4
0000000Q0O000® :: = =
e Page 109
3238 5 rows 22322 4 rows What to do: 20+ 4 ]=| 5
9090 of 4 is 20 02088 of 5is 20 ]
o a ||es|[es|ss/os/les] 6 Page 113
° o0 (0000 00 00
: 7 1a 2 groups oj5is 10 divided into 2 groups isE
@
: NI e o) [e)[a)[E]
Trowof20is20 o 20 rows 0% || o% || o% || ’
00000000000000000000 Eof1 is 20 b 4groupsof2is divided'mtogroupsis@
. eoooo 00000 "E= +E=E
° c 00000 00000 15
: 00000 000O0O
S - 000
c 6 (x| 3 |=/18||ee@
Page 105 Page 110 000
What to do: 18|+ 6 |=| 3 |[cee
: 1a You can feed _ 9 birds.
a 4x10=40
18+2=1]4q _ 00
b 3x5=15 d |7 [x 3 |=|21 :::
000
¢ 5x7=35 b You can feed _4 _bears. 211217 = 3 :::
20 +5=| 4 eee
Page 106 00
2a 0| | 4 (x| 2 |=| 8
What to do: ¢ You can feed _4 whales. ;|
Jackhas2x12=24 40 + 10 = | 4 8 |+ 4 |=| 2
Ellie has3x8=24
Page 111 _
Tomhas 4 x 6 =24 & b 2 |x| 5 |=/10
1 Tally marks or drawings will vary.
Nick has 1x24 =24 10l=1 2 |=|5s
So they all have the same number of a 30|+ 10 |=| 3
footy cards. Page 114
b 18 - 2 S q 1a 1 x 2 _ 2
Page 107
1a / c | 25|+ 5 |=| 5 2 |+ 1 =\ 2
b X d |40 |+ 10 |=| 4 b 2 x 2 -|a
c X
Page 112 4 |+ 2 =2
d X g
What to do:
2 Students should draw four fish in c 4 x 2 =|8
each bowl. 15
8 |+ 2 |=]| &4
Page 108 3 (x| 5 |=| 15
1 Drawings will vary. d 5 x 2 =|10
5
a5 10+ 2 =|58 10 |+| 2 |=| 5
15/« 3 |=| 5
b 6 12 = 2 |=| 6
-, .
Copyright © 3P Learning Series C Answers 14
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Series C — Operations with Number

Page 114 . Page 116
1.
2. 10 x 2 =20 - 1a 5 of8is| 4 -g2gs-
20+ 10 =| 2 8 = 2 |- 4
b 20 x 2 =|40 :
b50f18'ls q |- -
4 |+ 20 =| 2
18 |+ 2 |=| 9
c 40 x 2 =80 :

80 +| 2 |=] 40

¢ 5of10is| 5 |E38ET-
5

10 |+ 2 |=

d 50 x 2 =100

100| = | 50 |= | 2 d%°f12“ 6

1 )
b Lofsi] 2

12 2 |=| 6
Page 115 i
1a 1T x 10 =110
: 1 oo
i 2a L, ofl6is| 4 |- -
| 4of is __
10|+ 1|=|10 ;
; 16 = 4 |=| 4

20 -2 =10
8 |+ 4 |=| 2
c 3 x 10 =30
i Pagel1l17
30+ 3 |=|10 . What to do:

50 + 5 =10 cupcakes each

d 4 x 10 =40 You would get more if they shared the
i cupcakes evenly.

50 -+ 5 |=|10

f 10 x 10 =100

100 +| 10 |= | 10

2 Answers will vary.

-
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Addition and Name
subtraction facts

1 Finish the addition

number wheels.

2 Fill in the missing numbers in these number facts.

a 8+7= b 4+9= C +6=9

3 Solve these problems. Write the number facts.

a Max counted 8 worms in the front garden and 9 worms in the
back garden. How many worms did he count altogether?

b Heidi collects hair ribbons. She started with 5. Her cousin gave
her some more and now she has 13. How many ribbons did her
cousin give her?

Skills and understandings Not yet | Kind of | Got it

e Recalls addition number facts to 20

e Recognises and solves missing addition number to 20

-
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Addition

Name

1 Complete each set of questions by counting on.

14 + 1 = 15 + 2 = 17 + 3 =
10 + 1 = 19 + 2 = 13 + 3 =
15 + 1 = 13 + 2 = 19 + 3 =
18 + 1 = 24 + 2 = 22 + 3 =
13+ 1= M+ 2= 12 + 3 =

2 Complete the number facts.

a 29+ 10=

d 11+20=

b 22+ 10 = ¢ 16 +20=

3 Jump along the number lines and finish each number fact.

a 24+8=

N T T T T Y
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

N T T T T T Y
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

Skills and understandings

e Uses a range of strategies to solve addition facts to 50

@ Copyright © 3P Learning
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Addition Name

1 Finish these doubles facts. ‘

0
‘@ @‘
Of5 o C
0

Double

2 Add these near doubles.

a 4 +5 = + + =

b 3 + 4 = + + =

¢ b+5 = ; ; _

d 7+ 6 = + + =
Sklusandunderstandmgs ..................................................... NOtyethdof ...... GOtlt ......

e Adds teen and common doubles

e Demonstrates understanding of near doubles strategy

-
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Addition Name

1 Use the number lines to help solve these problems.

a 16+8= NI SN B BN B A A BN B R
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

[jumped| <: |[togetto| . il ThenIjumped| <i |more.

b 17+6= NI R SN A BN B R A BN B R
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30

I jumped to get to . Then I jumped more.

2 Solve using a strategy of your choice. Show how you worked it out.

Moby had 18 toy cars. His dad gave him 8 more. How many does he
have now?

L1 1 1 1 1 1 1 | 1 |

Skills and understandings Not yet | Kind of | Got it

e Demonstrates understanding of the bridge to
10 strategy

e Solves bridge to 10 word problems using strategy
of choice

e,
{ Copyright © 3P Learning Series C Topic 2 Assessment 19



Addition Name

1 Set up these problems vertically and solve.

a 32+45= b 71+22=

c 63+12=

a H T:o b ‘H T 0 ¢ H T o
1.5 3 5 17
+ 21 4 +1:3:5 + 41 6

Skills and understandings

e Sets up and solves 2-digit vertical addition problems
(no regrouping)

e Solves vertical 3-digit vertical addition problems
(no regrouping)

-,
4 Copyright © 3P Learning
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Subtraction Name

1 Finish these number facts.

a b -2 = b 10 -6 = c 8 -6 =
5 -1 = 10 - 3 = ] - 4 =
5 -3 = 10 - 2 = qQ - 3 =

3 Solve these problems. Write the number facts.

a Ali had 12 eggs but dropped some and only has 4 left.

b Heda’s mum had some money in her wallet. After giving Heda £8
for lunch she is left with £15. How much money did she start with?

Skills and understandings Not yet | Kind of | Got it

e Recalls addition number facts to 20

e Recognises and solves missing subtraction problems
to 20

-
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Subtraction Name

1 Find the difference. Write the number fact to match.

2 Use your ruler to help solve these problems. Decide if it’s easier to
count on or count back.

a 30 - 27 = b 24 — 5 =
¢ 19 - 15 = d 28 - 6 =
3 Solve these. -
261271287291 30
a 38 - 10 = (/d/
\36 371383940
b 56 _ 90 — (46| 474849 | 50
@56 5715859 | 60
¢ 70 - 30 - le6] 67|68 ]6a] 70
Skills and understandings Not yet Kind of Got it

e Solves simple find the difference problems and writes
matching number facts

e Counts on and back to solve subtraction problems to 50

e Subtracts multiples of 10

-
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Subtraction Name

1 Finish the addition facts. Use them to solve the subtraction facts.

a / + = 13 b 8 + = 17

2 Write some addition and subtraction J‘acts to match.

vHEY FHEEEE

3 Make fact families for each set of numbers.

a 3 6 9 b 6 4 10
+ = + =
+ = + =
Skills and understandings Not yet | Kind of | Got it

e Writes related addition and subtraction facts

e Writes fact families for sets of 3 numbers

e,
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Subtraction

1 Use the jump strategy to solve these problems. Show the jumps and fill

in the missing numbers on the number lines.

a /8 - 23 = 23 is tens and ones
[ |

58 78

b 42 - 21 = 21 is tens and one
[ 1 |

22 42

2 Finish these subtraction problems. Remember to subtract the ones

and then subtract the tens.

a T o b T
4 ¢ 8 5
-1 4 -3

Skills and understandings

e Identifies place value of digits and uses jump
strategy to subtract 2-digit numbers

(no regrouping)

e Subtracts 2-digit numbers using vertical format

-,
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Multiplication Name

1 Draw more dots to make the groups equal. Finish the number facts.

a 3 groups of 2 =

2 Harry had 5 flower pots. He grew 4 flowers in each pot.

How many flowers did he grow?

Draw a picture below to solve the problem.

(s

Skills and understandings Not yet | Kind of | Got it

e Recognises and forms equal groups

e Solves equal group problems using pictoral representation

-
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Multiplication

1 How many dots? Finish the

a

Name

number facts.

b

@00
000

rows of s
VOO
0o
VOO
VOO0

rows of is

00000
00000
rows of is
T
A
| rows of is

2 Draw dots on the other side of the dominoes to create doubles.

Finish the number facts.

a

Skills and understandings

e Writes multiplication facts to match arrays

e Recognises and uses the multiplication symbol as x

e Creates double facts

e,

-
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Multiplication

Name

1 Colour the squares in the grid to show these facts. Finish them.

a

2 rows of 7 is

..............................................................................................................................................................

3 rows of 6 is

b

3 rows of 5 is

3 rows of 4 is

w
X
I
Il

2 Can you turn these arrays around in your head? Write both facts.

X
I

Skills and understandings

e Creates 100 square models of multiplication
problems and writes matching facts

e Uses arrays to create turnaround multiplication facts

-,
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Division Name

1 Tick the fair shares.
(2 (S22 (D

2 Share 12 flowers between 4 vases. Make sure each vase has the
same amount of flowers.

3 Make fair shares. Use counters or tally marks to help.

a Share 10 counters between b Share 13 counters between

2 people. 2 people.
How many counters How many counters
do you each get? do you each get?
Is there any Is there any
remainder? remainder?
How many? How many?

Skills and understandings Not yet | Kind of | Got it

e Recognises and makes fair shares

e Recognises and identifies simple remainders

e,
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Division Name

1 Solve these problems. Use counters or draw pictures to help.

a You have 20 chocolates to be shared fairly between

4 of you. How many chocolates do you each get?

b Each necklace needs 4 beads. You have 16 beads.

How many necklaces can you make?

c Each cupcake needs 3 jelly beans. You have 15

jelly beans. How many cupcakes can you decorate?

SRills and understandings

e Solves partition (sharing) and quotition (grouping)
division problems using concrete aids or pictorial
representations

-,
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Division Name

1 Use tally marks or draw pictures to help you solve these problems.

Finish the matching number facts.

a 12 sweets shared between 4 kids is

each.

b 28 worms shared between 4 birds is

2 Use the arrays to finish the matching multiplication and division facts.

X =

X
I

Skills and understandings

e Writes division facts using the division symbol

e Uses arrays to create matching multiplication and
division facts

-,
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Series C — Operations with Number — Student Progress Record

[ Name Class Date j

What went well:

What I need to improve:

Series C — Operations with Number — Student Progress Record

[ Name Class Date j

What went well:

What I need to improve:
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Series C — Operations with Number

ASSESSMENT ANSWERS
Page 16
1
2a 15
b 13
c 3
d 20
e 8
f 20
3a 8+9=17 17 worms
b 5+8=13 8ribbons
Page 17
1
14 +1 =15
0 +1 =11
15+ 1 =16
18 +1 =19
13+ 1 =14
15 +2 =17
19 + 2 =21
13+2=15
24 + 2 =26
1M1 +2=13

1

2a

3a

17 + 3 =20

13 +3 =16

19 + 3 =22

22 + 3 =25

12 +3 =15

39
32
36
31
45
49

32

20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

RSN 25 A 0 4 A A0 I AR
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40

2a

b

C

d

ses=la] 4]+ 4]
o] [ [
ors=n|[s]+]s ]
o] [

Page 19

b

17+b=@\\\\\\\f
101112 13 14 15 16 17 18 19 20 21

3 20 25 26 27 28 29 0
T jumped B to get to . Then I jumped B more.

2 18+8=26

Answers will vary.

Page 20
la 77
b 93
c 75

2a 366
b 487
¢ 589

Page 21

la 3;4;2
b 4,7;8
c 2;3;6

2a 5

3a 28
b 36
c 40

Page 23
la 6;6
b 9;9

2 4+6=10
6+4=10

10-4=6
10-6=4
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Series C — Operations with Number

Page 23 Page 26
238 | 4 x| 5 |=| 20
3a 3 6 19 1a 2 |rowsof| 3 6
5 x| 4 |=| 20
3 + 6 = q 2 x 3 6
6 |+ 3 =]19
b | 3 7 = 21
b | 2 jrowsof| 5 10 X
il R 2| x | 5|10 7 x| 3 = 2
qQ |- 6 |=|3
¢ | 4 |rowsof| 4 16 Page 28
b 6 4 10 [ A o A A 1A A
4 x 4 16 1 Q A _pA ‘&\ C\\'C\\
6 +| 4 =|10 — 00 00
421612110 d | 2 roEo‘f 4 8 /
2 x 4 8
10 -1 4 | =] 6 L] 2 Each vase should have 3 flowers.
10/-6 =4 2a [,o0[o0e 3a 50
b 6;1
2 X 5 10
Page 24 Page 29
° °
la 78 - 23 = 23 is_ 2 tensand__ 3  ones
plel e vl 5
iy T 3
@ 58 68 78 2 B 2 4
b 42-21=@ 21 is_ 2 tensand__ 1 one b O O Q 0;4
P Page 27
o T L LT LAt
1a Wy W Wy Wy Wy
2a 34
b 23 2rowsof 7is| 14 Page 30
SRR RS
Page 25
b 12 4 |=| 3
QR el
3 rows of 5is| 15
b (&)%) oo ] U p |
28 4 |=| 7
2 20; each pot should have 4 flowers. c
22 | 3 (x| 4 |=| 12
3 2 |groupsof| 5 |is| 10 3rowsof bis| 18
12 || 3 |=| 4
2 x 5 =] 10 3x6 =18
b | 4 |x| 7 |=| 28
d
28 |+ 4 |=| 7
3 rows of 4is| 12
3 x4 =12
B
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Series C — Operations with Number

Topic Reference | Strand | Substrand Objective
Addition and . Recall and use addition and subtraction facts
. Addition and .
Subtraction 2C1a Number ) to 20 fluently, and derive and use related
Subtraction
Facts facts up to 100
Addition and Recall and use addition and subtraction facts
Addition 2C1a Number . to 20 fluently, and derive and use related
Subtraction
facts up to 100
Add and subtract numbers mentally,
Addition 2C1b Number Addition gnd mcluc%lr}g: a 2-digit number and one's,.
Subtraction | a 2-digit number and tens, two 2-digit
numbers, adding three 1-digit numbers
Add and subtract numbers using concrete
" objects, pictorial representations, including:
Addition 2C2 Number Addition gnd a 2-digit number and ones, a 2-digit number
Subtraction . )
and tens, two 2-digit numbers, adding three
1-digit numbers
Solve problems with addition and
subtraction: using concrete objects and
Addition 2C4 Number Addition gnd Plctor%al representations, .m.cludmg those
Subtraction | involving numbers, quantities and measures;
applying their increasing knowledge of
mental and written methods
Addition and Recall and use addition and subtraction
Subtraction 2C1a Number _ facts to 20 fluently, and derive and use
Subtraction
related facts up to 100
Add and subtract numbers mentally,
Subtraction 2C1b Number Addition .and mcluc%tr?g: a 2-digit number and one.s,.
Subtraction | a 2-digit number and tens, two 2-digit
numbers, adding three 1-digit numbers
Add and subtract numbers using concrete
- objects, pictorial representations, including:
Subtraction 2C2 Number Addition Fmd a 2-digit number and ones, a 2-digit number
Subtraction . .
and tens, two 2-digit numbers, adding three
1-digit numbers
Recognise and use the inverse relationship
Subtraction 2C3 Nurmber Addition .and betwe?n addition and su[?tractton ar.1d.
Subtraction | use this to check calculations and missing
number problems
-,

L
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Series C — Operations with Number

Topic Reference | Strand | Substrand Objective

Solve problems with addition and
subtraction: using concrete objects and
Addition and | pictorial representations, including those

Subtraction 2C4 Number . ! . .

Subtraction | involving numbers, quantities and measures;
applying their increasing knowledge of
mental and written methods
Recall and use multiplication and division

Multiplication Multiplication | facts for the 2, 5 and 10 multiplication

and Division 26 Number and Division | tables, including recognising odd and

even numbers

Calculate mathematical statements for
multiplication and division within the

Multiplication Multiplication
P, . 2C7 Number P' o multiplication tables and write them using
and Division and Division o o
the multiplication (), division (+) and equals
(=) signs
Show that multiplication of two numbers
Multiplication Multiplication . P f i
. 2Cab Number . can be done in any order (commutative) and
and Division and Division o
division of one number by another cannot
Solve problems involving multiplication
and division using materials, arrays
Multiplication Multiplication g ’ J%
L. 2C8 Number . repeated addition, mental methods, and
and Division and Division L . i )
multiplication and division facts, including
problems in contexts
-
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